SL.No.: 2122000012



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by

NAME : AKHLAQUE JAMAL

ROLL NO.: 2028881010012

REGN.NO.: 2088810120001

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code & Title		Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201	2 S &	Theory	75	52		S. 30	24	222	\$000	F 20
THE ROMANTIC STUDIES		Internal	25	16	100	68	A	6.80	4.00	27.2
CORE COURSE: ENG202	3-20	Theory	75	51	80		1	3	8 23	5 6
VICTORIAN STUDIES - I		Internal	25	16	100	67	A	6.70	4.00	26.8
CORE COURSE: ENG203	3-5 C	Theory	75	52		5-5		67 ₂ 7	200	5 8
VICTORIAN LITERATURE - II		Internal	25	20	100	72	A+	7.20	4.00	28.8
CORE COURSE: ENG204	6 8 8	Theory	75	52	3	5 5	1.5	23	8 2	5 5
VICTORIAN LITERATURE - III		Internal	25	20	100	72	A+	7.20	4.00	28.8
		ी के दिन के कि कि						10 44 10 10 10 10 10 10 10 10 10 10 10 10 10		
 Dectrication of a state of a 	rand Total	S Total C	redit	Total C	Credit Poin	8 5	CODA	222	.98	
	279	S 5 16			111.6	3 4 3	SGPA	2 3 3	.30	
	253	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę\$	38°,	5 \$	254	\$ 3

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000006



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by NAME : **AMAN MINJ**

ROLL NO.: 2028881010006

REGN.NO.: 2088810120002

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code	& Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201	3335	Theory	75	54		S. 37	2 4	5 5	\$0 \$	F 20
THE ROMANTIC STUDIES		Internal	25	16	100	70	A+	7.00	4.00	28.0
CORE COURSE: ENG202	5 8 3 4	Theory	75	51	8.3		2.2	3	हेंदुवे	5 8
VICTORIAN STUDIES - I		Internal	25	15	100	66	A	6.60	4.00	26.4
CORE COURSE: ENG203	S Ball	Theory	75	50		5-2		8 J	200	5 2
VICTORIAN LITERATURE - II		Internal	25	17	100	67	A	6.70	4.00	26.8
CORE COURSE: ENG204	5 4 A A	Theory	75	53	3	55	254	23	7 2	5 3
VICTORIAN LITERATURE - III		Internal	25	17	100	70	A+	7.00	4.00	28.0
		SAS REED								
	Grand Total Full Marks : 400	STotal C	redit	Total C	Credit Poin	8 5			.83	2 ⁵ ,4
	273	2 3 2 3 16			109.2		SGPA	8	.03	
	3 \$ 3 \$	Course(s)/Paper	(s) not cl	leared ma	rked as	'Ę\$	J.	5 \$	25	\$ 3 \$

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000015



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by NAME : **ANANDA BISWAS**

ROLL NO.: 2028881010015

REGN.NO.: 2088810120003

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code &	& Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201	3 3 S 6	Theory	75	52		5.30	5 4	224	\$0 \$	F 20
THE ROMANTIC STUDIES		Internal	25	20	100	72	A+	7.20	4.00	28.8
CORE COURSE: ENG202	5 8 3-3	Theory	75	51	8 3	5.5	2.3	3	हेंदुवे	5 8
VICTORIAN STUDIES - I		Internal	25	21	100	72	A+	7.20	4.00	28.8
CORE COURSE: ENG203	St Bart	Theory	75	53		5-2		8 ₂ 7	200	5 8
VICTORIAN LITERATURE - II		Internal	25	24	100	77	A+	7.70	4.00	30.8
CORE COURSE: ENG204	5 8 8 8	Theory	75	51	3	53	13	23	7 20	5 5
VICTORIAN LITERATURE - III		Internal	25	25 24 100	75	A+	7.50	4.00	30.0	
	Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5	SCDA		.40	
	296	2 2 2 16 ²			118.4	34 43	SGPA	2 3 3		
		Course(s)/Paper	(s) not cl	leared ma	rked as	'ʰ`	Ę,	5 \$	3	\$ 5

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000001



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by NAME : **ANTARA GHOSH**

ROLL NO.: 2028881010001

REGN.NO.: 2088810120004

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code	& Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201	3235	Theory	75	53		5.20	2 4	2 2	400 A	F 20
THE ROMANTIC STUDIES		Internal	25	23	100	76	A+	7.60	4.00	30.4
CORE COURSE: ENG202	5824	Theory	75	52	8 2	S. 3	2	3	F 23	5 6
VICTORIAN STUDIES - I		Internal	25	22	100	74	A+	7.40	4.00	29.6
CORE COURSE: ENG203	St Barl	Theory	75	55		5-2		85	200	5 8
VICTORIAN LITERATURE - II		Internal	25	24	100	79	A+	7.90	4.00	31.6
CORE COURSE: ENG204	5 5 5 8	Theory	75	53	3	53	8.5	23	7 2	5 5
VICTORIAN LITERATURE - III		Internal	25	24	100	77	A+	7.70	4.00	30.8
								10 10 10 10 10 10 10 10 10 10 10 10 10 1	101 - 101 -	
	Grand Total Full Marks : 400	STotal C	redit	Total (Credit Poin	8 5	SCDA		.65	
	306				122.4	34 43	SGPA	5° 5'	00	
		Course(s)/Paper	(s) not c	leared ma	rked as	'Ę\$	÷.	5 \$		\$ 5

J. Challowbork

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000005



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by NAME : **BIKRAM DAS**

ROLL NO.: 2028881010005

REGN.NO.: 2088810120005

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201	Theory	75	55		S. 37	284	224	\$0.0	F 20
THE ROMANTIC STUDIES	Internal	25	23	100	78	A+	7.80	4.00	31.2
CORE COURSE: ENG202	Theory	75	54	8 3		2	3	हेंदुवे	5 8
VICTORIAN STUDIES - I	Internal	25	21	100	75	A+	7.50	4.00	30.0
CORE COURSE: ENG203	Theory	75	56		5.5		0 3 T	200	5 \$
VICTORIAN LITERATURE - II	Internal	25	24	100	80	A+	8.00	4.00	32.0
CORE COURSE: ENG204	Theory	75	55	3	5	1.5	23	7 2	5 5
VICTORIAN LITERATURE - III	Internal 25 24	79	A+	7.90	4.00	31.6			
	Sharet of								
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5	SCDA		.80	27. A
312				124.8	34 43	SGPA	2 3 3		
新築装装	Course(s)/Paper	(<mark>s) not c</mark> l	leared ma	rked as	' Ę \$	J.	5 5		£ 3

J. Challowbork

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000004



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by NAME : **BINOTA RAY**

ROLL NO.: 2028881010004

REGN.NO.: 2088810120006

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201	Theory	75	53		S. 37	2 4	5 5	400 A	F 20
THE ROMANTIC STUDIES	Internal	25	18	100	71	A+	7.10	4.00	28.4
CORE COURSE: ENG202	Theory	75	51	8 3	S. 3	2	3	F 23	5 6
VICTORIAN STUDIES - I	Internal	25	21	100	72	A+	7.20	4.00	28.8
CORE COURSE: ENG203	Theory	75	51		5-5		6 J	40 G	5 8
VICTORIAN LITERATURE - II	Internal	25	21	100	72	A+	7.20	4.00	28.8
CORE COURSE: ENG204	Theory	75	52	3	55	15	23	¥ 2	5 5
	Internal	25	21	100	73	A+	7.30	4.00	29.2
	ANSIELE STATE			A A			400, 400, 400	1	
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5	SGPA		.20	27. 4 27. 4 2
288				115.2	34	JUPA	5 5 S	20	
	Course(s)/Paper	(s) not cl	eared ma	rked as	'E		5 5	25	\$ 2

J. Challowbork

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000002



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by

NAME : DINABANDHU ROY

ROLL NO.: 2028881010002

REGN.NO.: 2088810120007

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201	Theory	75	54		S. 37	2 4	224	\$0.0	F 20
THE ROMANTIC STUDIES	Internal	25	18	100	72	A+	7.20	4.00	28.8
CORE COURSE: ENG202	Theory	75	51	83		2	3	हेंद्वे	5 5
VICTORIAN STUDIES - I	Internal	25	21	100	72	A+	7.20	4.00	28.8
CORE COURSE: ENG203	Theory	75	51		5.5		5 J	200	5 8
VICTORIAN LITERATURE - II	Internal	25	22	100	73	A+	7.30	4.00	29.2
CORE COURSE: ENG204	Theory	75	53	3	5	15	23	7 2	5 5
VICTORIAN LITERATURE - III	Internal	25	22	100	75	A+	7.50	4.00	30.0
	ीति स्टिह अस्त्रि स्टिह						A A A		
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5	SCDA		.30	
292				116.8	34 23	SGPA	23	.50	
	Course(s)/Paper	(s) not cl	leared ma	rked as	'Ę\$	\$P.	5 \$	3	\$ 3

J. Chakersborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000013



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by

NAME : INJAMAMUL HOQUE

ROLL NO.: 2028881010013

REGN.NO.: 2088810120008

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code &	Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201	\$ 3 S &	Theory	75	53		S. 3	2 4	222	\$00	F 20
THE ROMANTIC STUDIES		Internal	25	21	100	74	A+	7.40	4.00	29.6
CORE COURSE: ENG202	\$ 3-3	Theory	75	49	8.5	5.3	2	5	8 ₂ 2	5 8
VICTORIAN STUDIES - I		Internal	25	21	100	70	A+	7.00	4.00	28.0
CORE COURSE: ENG203	S Bast	Theory	75	53		5-2		8 ₂ 7	200	5 8
VICTORIAN LITERATURE - II		Internal	25	24	100	77	A+	7.70	4.00	30.8
CORE COURSE: ENG204	4 3 8	Theory	75	51	3	53	8 5	2° 5	8 20	5 5
VICTORIAN LITERATURE - III		Internal	25	24	100	75	A+	7.50	4.00	30.0
		Marcine Marcine								
	Grand Total Full Marks : 400	S Total C	redit	Total C	Credit Poin	8 5	SCRA		.40	25 . S
	296	S 5 5 16			118.4	34 43	SGPA	8 3 '	.+0	
國際總統領	हैं है है	Course(s)/Paper	(s) not cl	leared ma	rked as	'ʰ`	£2,	5 4	25	\$ 3

J. Chakersborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000017



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by

NAME : KATHAKALI CHAKRABORTY

ROLL NO.: 2028881010017

REGN.NO.: 2088810120009

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code & Ti	tle	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201	2 5 6	Theory	75	55		5.30	2 4	224	\$0 \$	F 20
THE ROMANTIC STUDIES		Internal	25	22	100	77	A+	7.70	4.00	30.8
CORE COURSE: ENG202	\$ 3-3	Theory	75	54	8 3	5.3	2	3	हेंदुवे	5 8
VICTORIAN STUDIES - I		Internal	25	21	100	75	A+	7.50	4.00	30.0
CORE COURSE: ENG203	S.	Theory	75	56		5-5		55	200	5 8
VICTORIAN LITERATURE - II		Internal	25	24	100	80	A+	8.00	4.00	32.0
CORE COURSE: ENG204	4 A 8	Theory	75	53	3	5	1.5	23	7 8	5 5
VICTORIAN LITERATURE - III		Internal	25	24	100	77	A+	7.70	4.00	30.8
		A State						AP LO AP	A Land	
	Grand Total Full Marks : 400	Total Ci	redit	Total C	Credit Poin	8 5			.73	2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2
	309	16			123.6		SGPA		13	
	£ 5 £	Course(s)/Paper(s) not c	leared ma	rked as	'Ę¢		5 5		\$ 2

J. Challowbork

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000010



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by

NAME : MAHALAY BARMAN

ROLL NO.: 2028881010010

REGN.NO.: 2088810120010

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201	Theory	75	53		5.30	2 4	224	\$0.0	F 20
THE ROMANTIC STUDIES	Internal	25	17	100	70	A+	7.00	4.00	28.0
CORE COURSE: ENG202	Theory	75	52	8.5	5.3	2	3	F 2	58
VICTORIAN STUDIES - I	Internal	25	21	100	73	A+	7.30	4.00	29.2
CORE COURSE: ENG203	Theory	75	51		5-5		6 ₂ 1	200	5 2
VICTORIAN LITERATURE - II	Internal	25	23	100	74	A+	7.40	4.00	29.6
CORE COURSE: ENG204	Theory	75	52	3	5 5	15	23	7 2	5 3
VICTORIAN LITERATURE - III	Internal	25	23	100	75	A+	7.50	4.00	30.0
	S. A. LAND			A A					
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5	SCD A		.30	25
292	16			116.8		SGPA		30	
医凝集器	Course(s)/Paper	(<mark>s) not c</mark> l	leared ma	rked as	'E	32°,	5 \$	25	\$ 3

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000007



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by NAME : **PIYALI PANDIT**

ROLL NO.: 2028881010007

REGN.NO.: 2088810120011

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201	Theory	75	55		S. 37	2 4	224	\$0.0	F 20
THE ROMANTIC STUDIES	Internal	25	17	100	72	A+	7.20	4.00	28.8
CORE COURSE: ENG202	Theory	75	52	83		2	3	हेंद्वे	5 5
VICTORIAN STUDIES - I	Internal	25	21	100	73	A+	7.30	4.00	29.2
CORE COURSE: ENG203	Theory	75	53		5-5		గ్నా	200	5 3
VICTORIAN LITERATURE - II	Internal	25	22	100	75	A+	7.50	4.00	30.0
CORE COURSE: ENG204	Theory	75	54	3	5	15	23	7 2	5 5
VICTORIAN LITERATURE - III	Internal	25	22	100	76	A+	7.60	4.00	30.4
R. SHARES IN References	A BRID							D. Color	
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5	SCDA		.40	
296	S 5 5 16			118.4		SGPA	23	HU S	
	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę\$°		5 \$		\$ 3

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000008



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by NAME : **PUJA SARKAR**

ROLL NO.: 2028881010008

REGN.NO.: 2088810120012

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code & Title		Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201	3 S. S.	Theory	75	55		S. 3	2 4	224	\$0 \$	F 20
THE ROMANTIC STUDIES		Internal	25	19	100	74	A+	7.40	4.00	29.6
CORE COURSE: ENG202	3-3	Theory	75	54	83		2	3	हेंद्वे	5 8
VICTORIAN STUDIES - I		Internal	25	21	100	75	A+	7.50	4.00	30.0
CORE COURSE: ENG203	£-5	Theory	75	55		5.5		87 J	200	5 8
VICTORIAN LITERATURE - II		Internal	25	22	100	77	A+	7.70	4.00	30.8
CORE COURSE: ENG204	\$ 5	Theory	75	54	3	5	15	23	7 2	5 5
VICTORIAN LITERATURE - III		Internal 25 22 100		76	A+	7.60	4.00	30.4		
		A Sterr								
WE'N CONVERGENCE	and Total Marks : 400	Total Ci	redit	Total C	Credit Poin	8 5	CODA		.55	25 . S
	302	S 5 16			120.8		SGPA	5 5	00	
		Course(s)/Paper	(s) not cl	leared ma	rked as	'Ę\$	£2,	5 \$		\$ 5

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000016



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by

NAME : RAKESH DEBNATH

ROLL NO.: 2028881010016

REGN.NO.: 2088810120013

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code &	Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201		Theory	75	54		S. 30	2 4	222	\$	F 20
THE ROMANTIC STUDIES		Internal	25	19	100	73	A+	7.30	4.00 4.00	29.2
CORE COURSE: ENG202	\$ 3-3	Theory	75	51	8 2		2	3	8.2	5 2
VICTORIAN STUDIES - I		Internal	25	21	100	72	A+	7.20	4.00	28.8
CORE COURSE: ENG203	5 5-5	Theory	75	54		5-5		25	200	5 4
VICTORIAN LITERATURE - II		Internal	25	22	100	76	A+	7.60	4.00	30.4
CORE COURSE: ENG204	1 4 A A	Theory	75	54	3	5 5	1.5	A+ 7.60	¥ 2	55
VICTORIAN LITERATURE - III		Internal	25	22	100	76	A+	7.60	4.00	30.4
		जीवे रहेत इ.स. इ.स. इ.स.							A LA LA	
	Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5	SCDA 7		42	25.5
	297	<u>م</u> کر کر 16			118.8		SGPA		43	
		Course(s)/Paper	(s) not c	leared ma	rked as	'Ę	3 3 3 3	5 \$		\$ 3

J. Chakersborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000011



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by

NAME : RINKY MAZUMDAR

ROLL NO.: 2028881010011

REGN.NO.: 2088810120014

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code & T	itle	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201		Theory	75	53		S. 20	2 4	5 5	\$0 \$	F 20
THE ROMANTIC STUDIES		Internal	25	19	100	72	A+	7.20	4.00	28.8
CORE COURSE: ENG202	\$ 3 3	Theory	75	52	8 2		2	3	8.23	5 8
VICTORIAN STUDIES - I		Internal	25	16	100	68	A	6.80	4.00	27.2
CORE COURSE: ENG203	S Star	Theory	75	51		5-2	9 A	P 5	200	5 4
VICTORIAN LITERATURE - II		Internal	25	18	100	69	A	6.90	4.00	27.6
CORE COURSE: ENG204	14° 27° 2	Theory	75	52	3	55	254	A 6.90	7 2	5 5
VICTORIAN LITERATURE - III		Internal	25	18	100	70	A+	7.00	4.00	28.0
		S.S.C.D						Cat of Cat	10 - 10 - 10 - 10 - 10 - 10 - 10 - 10 -	
	Grand Total Full Marks : 400	Total C	otal Credit To		Total Credit Point				2 ⁷ ,4	
	279	S S S 16			111.6	3 4 3	SGPA	2 3 3	30 4.00 90 4.00	
	£ 5 £	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę\$°	38°,	5 \$	7_3ª	\$ 5

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000003



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by NAME : **SAYAN DAS**

ROLL NO.: 2028881010003

REGN.NO.: 2088810120015

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code	& Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201		Theory	75	53		5.20	2 4	2 2	400 A	F 20
THE ROMANTIC STUDIES		Internal	25	19	100	72	A+	7.20	(Ci) 4.00 4.00	28.8
CORE COURSE: ENG202	583-9	Theory	75	51	8 2	S. 3	2	3	F 23	5 6
VICTORIAN STUDIES - I		Internal	25	21	100	72	A+	7.20	4.00	28.8
CORE COURSE: ENG203	St Baral	Theory	75	54		5-2	A+	83	200	5 4
VICTORIAN LITERATURE - II		Internal	25	23	100	77	A+	7.70	4.00	30.8
CORE COURSE: ENG204	5 8 8 8	Theory	75	53	3	53	9.54	23	7 0	5 5
VICTORIAN LITERATURE - III		Internal	25	23	100	76	A+	7.60	4.00	30.4
								10 10 10 10 10 10 10 10 10 10 10 10 10 1	10 10 10 10 10 10 10 10 10 10 10 10 10 1	
	Grand Total Full Marks : 400	Total Credit		Total Credit Point		8 5	2024 7.42			
	297	20 2 2 16			118.8	34 43	SGPA	8 3 '		
	5 4 5 4	Course(s)/Paper	(s) not c	leared ma	rked as	'E	÷.	5 5		\$ 3

J. Challowbork

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000019



INSTITUTION CODE : 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by

NAME : SUDARSHAN BISWAS

ROLL NO.: 2028881010019

REGN.NO.: 2088810120016

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201	Theory	75	53		5.30	5 4	224	\$0 \$	F 20
THE ROMANTIC STUDIES	Internal	25	19	100	72	A+	7.20	4.00	28.8
CORE COURSE: ENG202	Theory	75	52	8.5	5.3	2.3	3	हेंदुवे	5 8
VICTORIAN STUDIES - I	Internal	25	22	100	74	A+	7.40	4.00	29.6
CORE COURSE: ENG203	Theory	75	55		5-2		8 ₂ 7	200	5 8
VICTORIAN LITERATURE - II	Internal	25	24	100	79	A+	7.90	4.00	31.6
CORE COURSE: ENG204	Theory	75	52	3	53	13		7 2	5 5
VICTORIAN LITERATURE - III	Internal	25	24	100	76	A+	7.60	4.00	30.4
Grand Total Full Marks : 400	Total C	Total Credit Total C		I Credit Point		SGPA 7.53			
301	5 5 16			120.4	34	JOFA	8 3 S		
	Course(s)/Paper	(s) not c	eared ma	rked as	'ʰ`	Ę,	5 \$		\$ 5

J. Chakersborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000018



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by

NAME : SUSHMITA SARKAR

ROLL NO.: 2028881010018

REGN.NO.: 2088810120017

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201	Theory	75	55		5.30	5 4	222	\$	F 20
THE ROMANTIC STUDIES	Internal	25	19	100	74	A+	7.40		29.6
CORE COURSE: ENG202	Theory	75	53	83		2	3	¥ 2	5 5
VICTORIAN STUDIES - I	Internal	25	16	100	69	A	6.90	4.00	27.6
CORE COURSE: ENG203	Theory	75	52		5-5		8 ₂ 7	2	5 30
VICTORIAN LITERATURE - II	Internal	25	19	100	71	A+	7.10	4.00	28.4
CORE COURSE: ENG204	Theory	75	50	3	5 5	9 . F	+ 7.10 4.00	5 5	
VICTORIAN LITERATURE - III	Internal	25	19	100	69	A	6.90	4.00	27.6
Grand To Full Marks	Total C	redit	dit Total Credit Point			SGPA 7.08			
283	5 5 5 16			113.2		OGFA	8 3 3		
	Course(s)/Paper	r <mark>(s) not c</mark> l	leared ma	rked as	'ʰ`	£.	5 4	25	\$ 3

J. Chakersborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000014



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by NAME : **TARIQUL ISLAM**

ROLL NO.: 2028881010014

REGN.NO.: 2088810120018

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code & Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201	Theory	75	50		S. 3	2 4	2 2	\$	F 20
THE ROMANTIC STUDIES	Internal	25	16	100	66	A	6.60	(Ci) 4.00 4.00 4.00	26.4
CORE COURSE: ENG202	Theory	75	47	80		2.4	3	ર્કેટ્ટે	38 5
VICTORIAN STUDIES - I	Internal	25	16	100	63	A	6.30	4.00	25.2
CORE COURSE: ENG203	Theory	75	46	3	5.5		875 1	\$	5 8
VICTORIAN LITERATURE - II	Internal	25	20	100	66	A	6.60	4.00	26.4
CORE COURSE: ENG204	Theory	75	44	5	3	15	6.30 4.00 6.60 4.00 6.40 4.00	8 2	5 6
	Internal	25	20	100	64	A	6.40	4.00	25.6
	S S S S S								
Grand Total Full Marks : 400	Total C	redit	Total C	Credit Poin	8 5	SCDA 6		18	27. 4 27. 4
259				103.6		SGPA	8 3 S	.40	
	Course(s)/Paper	(s) not cl	eared ma	rked as	'Ę\$	\$	3 \$	25	\$ 3

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021

SL.No.: 2122000009



INSTITUTION CODE: 888

GRADE CARD SECOND SEMESTER EXAMINATION, 2021 MASTER OF ARTS IN ENGLISH

The following is the statement of marks and grades obtained by NAME : **VARSHA TOPPO**

ROLL NO.: 2028881010009

REGN.NO.: 2088810120019

SESSION: 2020-2021

for the Second Semester Examination in ENGLISH, held in August, 2021

Course / Paper Code	& Title	Course / Paper Type	Full Marks	Marks obtained	Total Marks	Total Marks obtained	Grade	Grade Points (Gi)	Credit (Ci)	Credit Points (Ci) x (Gi)
CORE COURSE: ENG201		Theory	75	54		5.30	5 4	224	\$0 \$	F 20
THE ROMANTIC STUDIES		Internal	25	19	100	73	A+	7.30	(Ci) 4.00 4.00 4.00	29.2
CORE COURSE: ENG202	583-3	Theory	75	52	8 3	SI	1	3	हेंदुवे	5 8
VICTORIAN STUDIES - I		Internal	25	22	100	74	A+	7.40	4.00 4.00 4.00	29.6
CORE COURSE: ENG203		Theory	75	53		5-2		8 ₂ 7	200	5 8
VICTORIAN LITERATURE - II		Internal	25	24	100	77	A+	7.70	4.00	30.8
CORE COURSE: ENG204	3 4 8 8	Theory	75	54	3	53	13	(Gi) (Ci) 7.30 4.00 7.40 4.00 7.70 4.00 7.70 4.00	5 5	
VICTORIAN LITERATURE - III		Internal	25	24	100	78	A+	7.80	4.00	31.2
		Malicity All Parts						10 10 10 10 10 10 10 10 10 10 10 10 10 1		
	Grand Total Full Marks : 400	Total C	redit	Total C	al Credit Point					
	302	S 3 16			120.8	34 43	SGPA	2 3 3	4.00 4.00	
「「「「「「「「「「「「」」」」	5 8 5 <u>8</u>	Course(s)/Paper	(s) not cl	leared ma	rked as	'Ę	Ę,	5 \$	3	\$ 5

7. Challowborkz

Date of Publication of Result : 16TH SEPTEMBER, 2021